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1. Write your Roll Number in the ?ace provided on the top of this page.

2. This paper consists of one hundred (100) multiple choice type of questions. All questions are compulsory.

3. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of 5 minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iti) After this verification is over, the Test Booklet Number should be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

4. Each item has four alternative responses marked (A}, (B), (C) and (D). You have to darken the oval as indicated below on
the correct response against each item.

Example: (A @ (C) (DD where (B) is the correct response.

5. Your responses to the items are to be indicated on the OMR Answer Sheet under P?SH — II only. If you mark your

response at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.

. If you write your Name, Roll Number, Phone Number or put any mark on any part of the OMR Answer Sheet, except
for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or em%log any
glt_her al.:illrflifmlél means, such as change of response by scratching or using white fluid, you will render yourself liable to

squalification. )

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulserily and
must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of O Answer Sheet on conclusion of examination.
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9. Use only Blue/Black Ball point pen.
10. Use of any calculator or any electronic devices or log table etc., are prohibited.
11. There shall be no negative L:na:king. ) ) . ) ) ) ) )
12. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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LAW

Paper - 11

1. Who defines Jurisprudence as the
scientific synthesis of the essential
principles of law ?

(A) H.L.A. Hart
(B) B.N. Cardozo
(C) C.K. Allen
(D) Rosco Pound

2. Match the ‘Author’ with ‘the Book’
written by him and choose your

answer using the codes given below :
Author Name of the Book

a. Julius Stone 1. Province of

Jurisprudence
Determined
b. C.K. Allen 2. Law in the
Making
c. Keeton 3. The Province

and Functions

of Law
d. Austin 4. The Elementary
Principles of
Jurisprudence
Codes :
(A)a~1, b-2, ¢-3, d-4
(B)a-3, b-2, ¢c-4, d-1
Cya-1, b-3, c¢c-2, d-4
(D) a-4, b-2, ¢-3, d-1

1. o{lAcit Ul Slott st QRAR cativen
‘slatetoll Heccloll Reicdle] dsulsls
QAU A YsiR sl WaAd 8 ?

(A} DA Aet W &l

(B) ofl. Rat. 5158
() dl. 3.Acet

(D} A8l WGBS

2. o{lAcaidd ¥l Ulclloll YrelSoil olli

Ul 818l wa (Al [Ascletl 2t
AHIR wellol Gl

UXs/AWS Yelsoj ol
a. %lA2aU @lat 1. ddeu 28
52Ty Sert
Slemesos

b. .}, Actel 2. cl 8ot Y AEoL

c. fledt 3. l WA Aos
$59lol 2§ cll
d. AR 4, JJA@NA
REMRIC
LS %Y NY S
@sea -
(A)a-1, b-2, ¢-3, d-4
B)a-3, b-2, c-4, d-1
C)a-1, b-3, c-2, d-4
D)a-4, b-2, ¢c-3, d-1



3.

Read the Assertion (A} and Reason (R)
and give the correct answer with the
codes given below :

Assertion {A) : Austin said that
“only the laws set by sovereign to
the members of a political society are
positive law or law simply and strictly
so called”.

Reason (R) : In this theme of

explaining laws, Austin attached

importance to the element of

sanction.

Codes :

(A} Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R} are true and (R) is
not the correct explanation of (A)

(C) (A) is true and (R) is false
(D) {A) is false and (R) is true

According to ‘Allen’, Jurisprudence is

(A) A particular method of study, not
of law of one Country, but of the
general notions of law itself

(B) Body of principles recognised or
enforced by public and regular
tribunals in administration of
justice

(C) Scientific synthesis of all essential
principles of law

(D) A science which endeavours
to ascertain the fundamental
principles of which law is the

3. o1 e Fstanats Qulst ‘A7 e

512Q1°R’ o clidl Wal [Asclnisll =
ogcilol Y.

ataues [Quiet: ‘A’ WRA 53¢ 3,

“tearsla Qlauadlell dedlell wdeds
Ul 6lRL GlollelallHL, WA SIAEL %

85LRLAHSE SL2AEL WAL A HLA A
Ul Yt A staA€l awua”

5120 (R) VL USR SLAELl {Hestelcltell

SRRt 12t AHElsR0L otl declt
HEccl BUUHL WA B,

[Ase :

(A) Giol ‘A4t R WAL 8 ol ‘R’ A
‘Aol WAl wnyld B

(B) Giol‘A’ulal R’ AU B ¥l ‘R’
A Aol wAl wuzda =18l

(C) ‘A’ B B ‘R’ W &

(D) ‘A’uWg & ol R’ WY B

. Adetell 1A, R A.......

(A) ueauell As Wssu ugld B Bui
HIoL Bls Bell oll@ URd stauelell
UM ASCuUolizlloll UL WeUN
A B

(B) Rgidlel Al uHe 3 % wotcll
Gl axer Raflc Ul da
altoll adlaz gLt BeiaelH
BUAA ol WHAML YsauHl wadd &

(C) SLAELoL AHIH Hsectoll Rlgiclle]
dsifals weAnEL B

(D) ®ej YollsRWL stAElotl 1AFUHL
Wt B, dell Hecctoll Rslcdl otssl

exiression sclioll Yl 52q [Qsia &



5.

Who of the following explain that “to
classify all laws as coercive orders
or as moral commands is to over
simplify the relation between law,
coercion and morality” ?

(A) H.L.A. Hart {B} Hans Kelsen
(C) John Austin (D) C.K. Allen

Which of the following are the two
main theories of legal right ?

(A) Realist theory and will theory
(B) Interest theory and will theory
(C) Interest theory and fiction theory
(D) Bracket theory and interest theory

Read the Assertion (A) and Reason (R)
and choose your answer using the
codes given below :

Assertion (A) : A perfect duty is one
which a person not merely ought to
perform, but may be justly compelled
to perform.

Reason {R) : A perfect duty is one
which is not merely recognised by
law but enforceable.

Codes :
(A) Both (A) and (R) are correct and
(R) is the correct explanation of (A)

(B) Both (A) and (R) are correct and
(R) 1s not the correct explanation
of (A)

(C) {A) is correct and (R) is wrong

(D) (A) is wrong and (R} is correct

5. cHid stAelllal slnudl Ydsetl

g5l vaal s el ddld aollsa
scll A sLAL, Ol da dAldsd
el Hoitlle] ay Usq uells B.

(A) B A A 6¢ (B) do Scot
(C) ¥8lot Rt (D) Al %. Actot

. oflA gelca dslot saUl A Rigicdlal

slAE U1l RS il Hsectall
Rgidl aaml 2l 8 ?
(A) &flsctell Ay Suscdl (Qauruzgll
B) B A Sutoll [Quzuzgll
(C) Bl Any steuls [Quruzgll

}

(D} slRauul ¥t (A3 (2usl)
Ay et Qaruzel

. o{lA AU [auas [Qutet (A)ua

5120 (R) iUl Aol dAMIRL walte
[Ascnuisll uie s2A.

Plaaats [Qulet (A): s AYEl 5% A
& ¥ Roj calfsel WIS ulelel 53] sl
dlat Aed olld, uRq dej Wetet sa
HIZ dal syl A ge widl asial
s1RQUR): A s Ayel g2 A & & Bl
SL2LEL glRL Hil 2oL altHl udefl

o ol flal URd Ao wHellswl 53
AslA A §laL

[@scl -

(A) ool A Blal R AL B 3ol A 3 Rl
A wuxld &
(B) ¢il A viol RAUA B WA RA Aol

a2l gl otell
(C) AMY B UA RWE B

(D) AV B A R UY D



8. Who said that “the movement of 8. v s él@ S%Cj g ?- “ual[ag[lc,l

progressive societies has hitherto
been a movement from status to
contract” ?

(A) Henry Maine

(B) Blackstone

(C) Jeremy Bentham

(D) Fuller

. Match the List — I with List - II and
select the correct answer using the

codes given below :

List - I List - II
a. Law in a changing 1. Justice
society Cardozo

b. Human Law and 2. Friedman

Human Justice

¢. Minimum content 3. H.L.A.

of Law Hart

d. The growth of Law 4. Julius

Stone

Codes :

(A) a-2, b-4, ¢-3, d-1
(B) a-2, b-3, c—-4, d-1
(C)a-1, b-2, c-4, d-3

(D} a-3, b-4, c-1, d-2

. URddet WHeltR

. staustal [Asi

el anan letell st yoll
ynan 8"

(A) &oft RSt

(B) oAs wlat

(C) B3l Gleaunt

(D) 5GR

9, A€l 1 A afl 1 W AN wa A

W @AscQisll WD warst YdE 53,

€l - 1 aél-11

1. %Elu 51510
AHLHL SL2LEL

. Histclal sl2AEl WA 2. siBsNat

Hiotelad o2t
. stagtell dydn 3. WA Bd.
Lol A, slé

4. ycllaRet

@Qse .

(A) a-2,
(B) a-2,
(€) a-1,

(D) a-3,




10. Which of the following is/are true

about poverty and its aspects ?

i. Poverty is a denial of choice and

opportunities.

ii. Poverty is a violation of human
dignity.

iii. Poverty implies living on marginal
and fragile environment.

iv. Poverty means insecurity,

powerlessness and exclusion of
individuals.

Choose your answer using the

following codes :

Codes :

(A) Only 11is correct
(B) Only i, ii and iii are correct

(D) i, 1i, iii and iv are correct

11. Article 15(3) of the Constitution

empowers the State to make special

provision for

{A) Reservation in employment for
Scheduled Castes and Scheduled
Tribes

(B) Women and children

(C) Reservation for Scheduled
Castes and Scheduled Tribes in
Educational Institutions

(D) Special provision for socially and

10.

11.

oA ealcen Al st Qriadl aflouss
wal Aell ollotdl U AL & ?

i. atfloll A uaieofl wal dAslell Bots12
B

ii. oflefl A Hieta ARaell eldt 8

iii. ololt vl Rl U ollys
alcdlelRQML Wael cald &.

iv. 3ol aual uya, alAlRac
3 clsallell GUeaw

AL el ol Aol [AscHiel wie s2....

@sca -
(A) HIZL i WY B
(B} M i, ii el iii AU &

(D) i, i, iii Ma iv Al B

Oltl0Uoll VefWE U(3) A%RUA .....
112 (Al AlotaesA usal H
At AU B,

(A) viajyRld el al vioyRd
oetontld M2 AAsHL WetlHet

B} ¥l ual vunsl

C) daldls freAHl ARl (@
ol WojYRld wotmlld H2 weltid

(D) WHIS ua Aal@ls A usid
cdll {2 [Afle *otcuesl

economicalli backward classes



12. Match the case with the related subject | 32, joifld Qa2 A2 eaidcl 3

and choose the correct answer using AEL. WA oA Wl Rscdl uzell
the codes given below : ’

URAL seuod Al
Name of the case Related subject 3 of ol Aol Qu
a. Minerva Mills 1. Right to Freedom .
Vs. Union of of Speech and | & Botzen lcat [Qzg 1. awll 2auds=
India Expression Al HSR A U@ sl
utlsR
b. Sarla Mudghal 2. Theory of Basic b. HE YEIEA [ag& 2. YA
Vs. Union of structure ollad U2sL2
[ndia HLALell
Rgid
c. Shreya Singhal 3. Discussion on :
Vs. Union of Article 368 c. A Ruct @36 3. 21{012598 368
4 LR. Coelho 4. Rights of the d. . R, S1BA 4. uMldr 5
Vs. State of converted CEXRIBIETS fodecll &l
Tamil Nadu Christian women AR wEsiA
Codes : Qs -
(A)a-4, b-3, c-1, d-2 {A)a-4, b-3, c-1, d-2
(B)a-2, b-4, c-1, d-3 B)a-2, b-4, ¢c-1, d-3
(Cya-1, b-2, ¢c-3, d-4 (C)a-1, b-2, ¢-3, d-4
(Dya-4, b-3, c¢-2, d-1 MD)a-4, b-3, c-2, d-1

-
~

13. In which case, it was held that “Article | 13. sau 3uul Ag sAcAUML WA b olutQlall

21 of the Constitution protects the U2VE 29 oolRSlell Wl eicliolt
right to life and personal liberty of the @512 At ABUA eteisteitotl wRs12e]
Cltl?ensbmt Olnlyffmmt;he lex_eCl“t!VC 200 M2t sAoudl stau@eller @ uid
act%on, ut also trom the legislative wataenel stdasl LY
action ?
(A) Keshavanand Bharti Vs. State of (A) Batclele kel Q3 ¥ A¥x

Kerala

B

(B) A.K. Gopalan Vs. State of Madras (B} 2. 5. slwetet [a‘g“s‘ Hald =%
(C) Maneka Gandhi Vs. Union of India (C) Natstotitll [Age URA HRSIR

(D) Minerva Mills Vs. Union of India (D) Rotral M Q36 elRA U2



14.

15.

Read the Assertion (A) and Reason (R)
and choose the correct answer from

the codes given below :

Assertion (A) : In federalism, there
is a division of powers between the
Centre and the States.

Reason (R) : The Legislation is not
invalid merely because it incidentally
encroaches on matters which have

been assigned to another legislation.

Codes :
(A) Both (A) and (R) are true and (R)
is the correct explanation of {A)

(B) Both {A) and (R) are true but (R) is
not the correct explanation of (A}

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
Under Article 30(1), the right to

establish and administer educational
institutions belongs to

(A) Religious and linguistic
minorities
(B) All the Christian societies

(C) Allthe Charitable institutions dealing
with education of minorities

(D} Trusts created by the concerned
State Governments

14. [Asrucs ([Quued B steL ciAl Bal

oA 2t @Ascuiell uiAl saio
uApE 53,

GatzucHs [Autet (A) @ AHa cAMl
Bos vlel AU a2 Urllef [Qeuorat
YA s B.

SIRQUR) : S SLAEL Ao SIAELR
staiclatHl Al olotdl uR wldaset
53l 8lal l HIA A SR ¥ o 5L2AE
AR o o3

(asc-\ﬂ :

(A) Olol Aol RUIAU B A RUA
ol Rl wnyld ®

(B) oid A WA R WU D Mol RI;UA ol
ARl wmela el

(C) Ay & val RWE B

D) AVl BUARUYD

15. wof2de 30(1) 3601 Aaildls Aeual

RUUCloll Wl Aol aldde sclell wElsR
slal Yl 2 8 ?

(A} s v cunisla dgrdluia
(B) dxtd Ml Aadlula

(C) dyrclzlon [Qaw wd Asauddl
8l2t Aofl i Auttalcdl AU

(D) 2B-a A% USL2A sty wUWAd
2elal



16. Basing on the year of pronouncement
by the Supreme Court, arrange the
following cases chronologically by
using the codes given below :

i. Golak Nath Vs. State of Punjab
ii. Sajjan Singh Vs. State of

Rajasthan

iii. Keshavanand Bharti Vs. State of
Kerala

iv. Shankari Prasad Vs. Union of
India

Codes :

(A) iv, i, - 1, iii

(B) i, i, i, iv

(C) ii, i, v, 1ii

(D) i, i, v, i

17. Match the principles evolved with the
corresponding case laws and choose
your answer using the codes given

below :
Principles evolved Name of the case
a. Interim 1. T.V. Veethiswaran
compensation Vs. State of
to Rape victims Tamil Nadu
b. Protection 2. Bodhisattwa
against illegal Gautam Vs.
arrest and Shubhra
detention Chakraborty

c. Right against 3. D.K. Basu Vs.
delayed execution State of

West Bengal
d. Polluter pay 4. Vellor Citizen’s
principle Welfare Forum Vs.
Union of India
Codes :
(A a-1, b-2, ¢-3, d-4
B)a-2, b-3, c¢c-1, d-4
(C)a-1, b-3, c¢c-2, d-4
(D) a-4, b-2, c¢-3, d-1

16. ¥l BEIAA Gl BUUAUH]

17.

WAL YSLELUL ctriotl vUU? oA
eallde 30 A [Ascllot deelnl
sHaR ollsdl

i, dlaseiel Qe uastol A¥A

ii. Uwgol Qe [Ae AU AW
iii. datclele @l Qe ¥2cut >
iv. gisfluae [@Aa @R WSR2
[@Qsed .
(A) iv, i, i, iii
B) i, i, i, iv
(C) i, i, iv, i
(D) iii, i,  iv, i

(1A ealdcu Rgidla ®-a 3u

AL S| vl AMIR et oA

UL [AseHigl skl

Rgidl Suof oM

Winiesl 2ol oL 1. Ldl (@Qeflzet
GatailRal | [A36 dReog
AU} AN AR 21%2L

sty uuss 2. oll@dcet oldn
Aol eslAd Q3¢ genusadl
WA |

uHclsemi [Qda 3. L3y [Aza
Q34 w@st12 wfElM olowm w2y

YEHEL sRellR 4. AcAR Rloet
ysad-od Reid Ak 54 Az

GllRc M5k
Qs -
(A)a-1, b-2, ¢-3, d-4
B)a-2, b-3, c¢c-1, d-4
(C)a-1, b-3, c-2, d-4
(D)a-4, b-2, c-3, d-1



18.

19.

20.

A resolution for the revocation of the
proclamation of National Emergency
may be moved by
(A) The Prime Minister in the

Lok Sabha

(B} One-tenth of the members of the
Lok Sabha

(C) Union Home Minister in the
Lok Sabha

(D) One-fifteenth of the members of
the Lok Sabha

Which of the following is not a basic
source of Administrative Law ?

(A) Custom

(B) Delegated Legislation

(C) Ordinance promulgated by the
Governor

(D) Reports of the committees and
commissions

Which of the following Doctrine(s)
were developed by the Court to
control the administrative actions ?
Choose your answer from the codes
given below the Doctrines.

1. Doctrine of promissory estoppel

il. Doctrine of Legitimate

expectations
itl. Doctrine of separation of powers
and Rule of Law

iv. Judicial activism

Codes :

(A) Only i, ii and iii are correct
(B) Only iii is correct

(D) i, i1, iil and iv are correct

18.

19.

20.

Al 52182l A € s2cll WA A
Slell gt 2% 53 sl ?

(A) yatetr ol gl clsuensl

(B) cllsaeuell 1/90 de2ll gLl
(C) clsueiil 3 opeH=ll gl

(D) clsAUGUall 1/1U Ael a2l

1A eolca Ul 520 At aldadl

stuetall Ho Bl a@fl ?

NES

(B) YclYSd stALL

(C) otetolR gll M| sraunl wae
c2esu

(D) AFRABN 2al UAell wEaUA

(12 gadcant U4l saU Rgiclad el
g2l dlRadl sellotl vige MR [Asuaani
WAL ? AR weiot oA ealda
@scquigll e s3l.

i, il Aeud (dusyleeioidl)
oll [Raict
ii. clwoll WwAPAA Rgict

Aile] (Aeuaat sl sLRUELS
Alololl Rgic

iv. RS uBadl

@Qseq -
(A) HA i, i1 el dii AU
(B) Hoiii WLy

it.

(D) i, i, iiial iv AUl



21.

22.

Jus cogens means

(A) Rules developed from a bilateral
treaty which was found universal
(B) Pre emptory norms of general
principles of International Law from
which derogation is permissible
(C) Rules of ancient customary
International Law which are
rendered redundant in modern
times
(D) Body of customary and treaty
rules which are considered legally

binding by civilised States

Read Assertion (A) and Reason (R)
and choose the correct answer using
the codes given below :

Assertion (A) : International law
consists of the most part of the
customary rules.

Reason (R) : Customary rules are
the original and oldest source of

International Law.

Codes :

(A) Both (A) and (R) are true and (R}
is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)
(C) (A) is true and (R} is false

21.

22.

% K% ol W

A) & ualla AR w2l @Qsutacun
wAA [l ¥ ¥ d@s A sl
HAA

UicAFl2 SlaELell ALHLRL
Rgicdlet ydluis yeall 3
guigl ualsl sdl AsA B

YiRet 3(@otd AictArglat sttt

Pl 3 ® wylls Yol Frels
UtolcltHl vd B

(B)

(€)

3@t Al A®dLA 2l wye 3
Fal o035 AW G stAt AR A
oltlatscll attallHi 2ud B

(D)

[srua4s (At (A) wa sizel (R)

il WA o{lAotl [Qsenigll WA
osclled UME 3L

(Asi2lcHs [Quot A : i 2 512
33atd Rarlet Yyt edl uRld 8.

5120t R :3(@old (A2l A w2
slaugloll Al aott AR 1o Bl B,

Qs :

(A) Gl Aual RMAU BuARA A
ofl Al wuxld &

(B) olol A sl RUAUL B UG R A
ofl Al wuylA stell

(C) AUY O ol RVWE B

(D) (A) is false and (R) is true (D) AuWlg BUARUY B



23. De-facto Recognition mearns 23. Cll%d[a.S(ﬂ 5sa)ulcudl aaa

.......

24.

{A) Circumstantial and tentative

recognition
(B) Recognition in principle
(C) Legal Recognition

(D) Recognition is dependent on the
nature of the Government

Extradition means

(A) Handing over undesirable
diplomats to their own Countries

(B) Handing over a diplomat to
another State

(C) Handing over a spy to another

24,

(A) U9l Rt AR ViEYA
Hiocll

(B) AsilAs HicU
(©) slatuRell HieAcll

(D) Hiohcll URSLRell YSIR /23U GUR
R &

yelde Aed

A) el AN Anatl
gallui dluel

(B) a3l wert AU AU

State (C) 5 AMYUA Ve A¥RAUA HUA
(D) Handing over a criminal to other
State (D) 5185 2falolRal Wod AU UlUA
25. Which of the following statement is | 25. o{lQ eallcan UH 5 sauat YA B ?
t ?
e N (A) UMl uel (wotret AAioiell)all
(A) A decision of General Assembly Aea wARs o1eudl, A A staduzedl
is immoral and unethical, if it is Wil e Roitoll 83
ithout true legal effect
withott trie ega_ eHiee (B) Ml el (¥etet ARroiell) of
(B) A recommendation of General el Al st el uad Aaa
Assembly may be without true fdé‘_ wel o a[-as ulel elo‘ﬁu Qqauoﬂ
legal effect, it may have effects of wHRA Al qsd
a moral and political character (C) UUHloA AL (FoARE Asoicll)ell

(C} A decision of General Assembly
may be with true legal effect, it
may not be without effects of a

moral and political character

(D) None of the above

[Qefal stz uzell v uéld A
A3, d dlds amer AxEla @zl
wAA Reuat of 8 ad

(D) Gunigll 81 «18l



26. Match the International Instruments | 2. ol gaidcu Mld??tbﬂal Al Aol
with the Year and choose your answer RUollell Ay A Auilll VA Al

by using the codes given below : FAUA (AQett [Ascdliiel ude 52,

International Year Uid0éla Aull ay
Instruments
a. Convention of the 1. 2006 a. ollaSlelt WA 1. 2006
Rights of the child ¥{Jle] ANClot
b. Universal Declaration 2. 1990 b. Helau@si3led 2. 1990
of Human Rights ds g22l
c¢. Convention on the 3. 1948 c. [Asaio calsael 3. 1948

Rights of the persons e 2idlo] HRetet

with disabilities

d. International covenant 4. 1966 d. AlBs Ao 4. 1966

on Civil and Political L CENCETR

Rights il il

ulFue

Codes : Rscll -
(A)ya-1, b-3, ¢c-2, d-4 {A)a-1, b-3, c¢c-2, d-4
B)a-4, b-2, ¢-3, d-1 B)a-4, b-2, c¢c-3, d-1
(C)a-2, b-3, c¢c—-4, d-1 C)a-2, b-3, c-4, d-1
(D)a-2, b-3, c¢c-1, d-4 D)a-2, b-3, ¢c-1, d-4




27.

28,

Which of the following statement(s}
is/are correct about World Trade
Organisation ?

1. The new World Trade Organisation

came into effect on January 1,
1995.

i1. The head quarters of World
Trade Organisation is located at
Geneva.

At present, the WTO is run by
its members of which there are
currently 164.

India joined the World Trade
Organisation in the year 2000.

iii.

iv.

Choose your answer using the codes
given below : :

Codes :

(A) Only i and i1 are correct

(B) Only iv is correct

(C) Only i, ii and iii are correct

(D) i, ii, iii and iv are correct

Which of the following are true so
far as rights of internally displaced
persons are concerned ? Choose your
correct answer using the codes given
below :

i. The right to seek safety in another
part of the Country.

ii. The right to seek asylum in another
Country.

iii. The right to leave their Country.

Codes :

(A) Only iis correct

(B) Only i and ii are correct

{C) 1, il and ili are correct

(D) None of the above

27.

28.

Ay cayuiz dotset 2191 oA ealicau

Uslo} 523 (@Quuet Qe B ?

i. ol QA R Wdlset 1 weguuidl
1995 ofl A% WURecctHl 2t

. ([Qu caAtulR Adwsel of Hul HUS

slleuul wad B.

sl ([Aa calwr AdLset doll

ueAl gl YcllcelHl A B

ua doll Avau 164 &

elRa [Qy caui HalsetHi 2000

oll cl{H lsiel s3],

ARl watol oflA e ([Ascuisl

yde s

@5@-& :

(A) A i U UL B

(B) s ivld B

(C) WA 1, ii el iii cHin Al B

(D} i, ii, ili Wl iveldd WU B

1il.

iv.

wldRs [QraRd caulaullelt vURSIALU
deelui oflA calcal Ul st [Qtuel
B 7 dAu weuol [AAetl Rscdot 2R
UdE 53U

i, Ealoll el AoLHl ActHAloll

Howell seiadl wlsiR

i, weA AL SR ANclclsll
w512
Ulclletl 29t Siscllol st

Qseq

(A) HIRL 1 WY B

(B) Ha i vial iUl &
(C) 1, iiua iyl &
(D) GuHiell 8 =12

ii.



29,

30.

The International Red Cross Conference
held in Stockholm approved four
Conventions known as Geneva
Conventions I to IV and these

Conventions came into force on
(A} August 12, 1949
(B) August 30, 1949
(C) January 1, 1950

(D) October 21, 1950

Of the following which is/are true
about International Humanitarian
Law ?

i. International Humanitarian Law
is a branch of jurisprudence
which regulates the conduct of
armed conflicts.

ii. International Humanitarian Law is
a part of International Law which
is a body of rules governing the
relations between the States.

International Humanitarian Law
is a set of rules to limit the effect
of armed conflict.

1ii.

International Humanitarian Law
can be defined as the human
rights component of the law of war.

iv.

Choose your answer using the codes
given below :

Codes :

(A) Only i, ii, ili are true
(B) Only it and iii are true
(C) i, ii, ili and iv are true

29,

30.

Uit 255l dAcot 3 ¥

RA5EHHL larallHl wUAA dHsll Gl
AR YN o HoEl el el
8 Bl ollcl ¥Rt 1 &l IVl

UABUA D, el UL YN 56
Atfluel A wieal ?

(A) ol 12, 1949

(B) ¥ole 30, 1949

(C) oseuidl 1, 1950

(D) s2\eR 21, 1950

UldRFIA Hlstadlat €l stauel 43
A galican Uslof 52f [Aruot WY B ?
i uidRA|2 Histelcdletl €l stauel

Qellauatell suvt B ¥ ¥ uarat
QA 825l 2iglklct 53 B.

il. widdla Hiatadiatél siagl R
vlicR2AF2L SlaAsloll U B ¥ ¥
AR c2otl Aol viglld 52 B.
wicAEl Hieldclatel st2aEl A
Rapilell 26 B 3 % uawt Qydl

WHAA AR 52 B

il Hidadal €l slaLela
Ygoll SLAELO Histal w@s12 cal
ot A3 cavaud s astal.
AR ol ol Aot Asciuigl]l k.

@se .

(A) M2 i, ii el i wul B
(B) MUAii, vtal iii Ul B

(C) A i, i, iii W iv AL B

1ii.

iv.

iDi Onli iv is true (D) HA v %ll?-j 8



31. The Maxim “actus non facit reum, nisi 31. YA ‘Ased slol 3R Ran ol Rout
mens sit rea” means e Bar o wel o szt ?

(A} Thf:re ca_n be no crime without a (A) 3 AR Mol Rot 3| o saidlet
guilty mind 3
al
B) Crime has to be coupled with
* guilty mind P (B) ofell fellBet Histd W& &
(C) Crime is the result of the guilty wgA i
mind (C) 3)ell Iett(Ect HlotUe] URRUM B
(D) In crime intention is relevant, (D) ofouni sRUEL B2l B. &
motive is irrelevant Aol o2l

32. When a Criminal Act is done by | 32. ¥R 8¢ oetild 512 As sl ay
several persons in furtherance of the REA GLRL, A oltloll AU BAEL 62

common intention of all clac Hi2 scllHl wdd sl ...

1. Each of such person is liable for LoAdl dad cafsa Weltell St W2
his own overt act. WG ELR ILQULL.
ii. Nobody can be held liable in the . MU SAELeL el sleSuat
absence of common intention. cafsel arcllotel? Ul «U(@.
ili. Each of such person is liable for i, A ydls e wd 3 A sl QA
that act in the same manner as Ay 521 Aat Al AA WAELR

if it were done by him alone.
aeus,

iv. d Ucls c2isel ofeltil Wedlell

aes Al ool o el welElR
oRual.

iv. Each of such person shall be
liable according to the extent of
his participation in the crime.

Ch ing th '
00S€e your answer using the GUAsd Higl A acio, R

Qsedl 4dl susl
@se -
(A) HIA 1 WY B

(B) Ho i Y B
(C) Only iii is correct (C) Mot iii WY B

(D) Only iv is correct (D) WA vy 8

following codes :

Codes :
(A) Only iis correct

(B) Only ii is correct




33. The maxim ‘de minimus non curat

34.

. Dementia 2.

. Ignorantia facit 3.

. Quod necessitas 4.

lex’ means

(A) Law would not take action in
serious matters

(B) The motive to commit the crime

(C}) The law does not ignore any
act which causes the slightest
harm

(D) Law would not take action on
small and trifling matter

Match the List — I with List — II and
choose your correct answer by using
the codes given below :

List - I List - II
Doli Incapax 1. Aform of lunacy
in which the
function of the
mind is
temporarily
suspended
Necessity knows
no law
A child below

the age of seven
years

offectatia

doth excusat

Ignorance of

non habet fact excuses
leegem

Codes :

(A)a-2, b-3, c-1, d-4
B)a-1, b-2, ¢-3, d-4
(C) a-3, -1, c-4, d-2
(Dya-4, b-2, ¢-3, d-1

33. YA ‘¥ flollallu ollot 22 Qar ol wel

34.

9 &9l ?
(A)

o3
(B)
(C)

stA€] alell? oilolcdiHl watei Al

el scll 2ol £2AEL
sl2AEL Al 518 UL Sl A ao1RLal

ol@ Bouell 25 ua sl 2 8y

(D)
12l

SL2AEl eAs “llelcdlal it Adl

AL T A €L 1T WA ASL WA AHL
ARD ol oflA eaflded s well urie

53
A€l -1

. Sl soi30at 1.
AR 2L 2.
wlys2 (el

. xRl 3Re 3.

Sla wseyA2

sdls AAR2AU 4.,

allat a2 cllay
@se -

(A) a-2, b-3,
(B)a-1, b-2,
(C)a-3, b-1,
(D) a-4, b-2,

L€

GoHlEs] U w3U
% gl HoLewe] s1d
SLHAAG UH2A HER
WPl i d

or3(Raulcd siAEl
t2lotHl Adl el

Ald arefl «{lAed

GHR YA
OlLLS

68l5cto] Asliot

olUld B

c—-1, d-4
c—-3, d-4
c—-4, d-2
c—-3, d-1




35. Which of the following is/are true

36.

so far as ‘unlawful assembly’ is
concerned ? Choose your correct
answer using the codes given below :

i. There must be an assembly of five
persons.

ii. The assembly must have a common
object.

iii. The common object must be to

commit one of the five illegal
objects specified in Section 141
IPC.

Codes :

{A) Only i and ii are correct
(B) Only ii and iii are correct
(C) Only iii is correct

(D} 1, ii and iii are correct

In which of the following cases
constitutional validity of Section 497,
Indian Penal Code was challenged ?

{A) Yusuf Aziz Vs. State of Bombay

{B) Sowmithri Vishnu Vs. Union of
India

(C) Joseph Shine Vs. Union of India

(D) V. Revathi Vs. Union of India

35.

ii.

111,

36.

SrstatuR Hsollal ol dlat el Yl
ol goldet (Ascdl U8l san [Aseu
AUA B ? dAMA WA Felel AAsnt S5/

Qscliuiell ude s
Wiy cEell Hsoll Sl s,

Hsollell A5 Ao GEal 8l
GEN

WHlo GEal eucla fereidl
tRell setd 139 H ealdd Wi
Sleslat MR GEellMiall sle5 gl s
GEa Wk uLscltell Al ASA.

@Qsed -

(A) HtA i wet il AW B
(B) LA ii Aol iii WUl B
(C) =t iii Wy B

(D) i, il dii WAl B

o{13 ealicat Qfloit saut Juui eudla
glgeldl wilell s 497 ofl oluella
AR scltal ussRaHl wudell ?

(A) Yys ol (3¢ o A
B) WAR [Qw] Qs et ¥R
(C) A5 WS Q& R UIR

D) <l. el Qg elrd URs12



37.

Read the Assertion (A} and Reason (R)
and choose your answer using the

codes given below :

Assertion (A) : The right of private
defence does not depend upon the
actual criminality of the aggressor
but on the wrongful character of the

act attempted.

Reason (R) : Even if an act is treated
as offence, the right of private defence
arises against the author despite his

personal incapacity.

Codes :

(A) (A) is the law on an unlawful
act while (R) is the result

without mens rea

{B) (A) is correct principle because

(R) is right reason

(C) {A) is untenable under law while

(R) is justifiable cause

(D) (A) is true while (R) is false

7. {12 w0 Az2uas @Quield (A) et

Ad] 51RBUR) A Wal dHLA WA

ogciled ol el @scdsiell ude 53

[Astaueus [Quist (A): viotall cutael
@5 gHALRA v YetBetct
UR wlRc olell URg B sl Yalot
SCAUHL WAA § A Seloll ARSIATUR
URA Uz R B.

SIRAU(R) : Sedol ooll M auatHi wial
AH B9l wiletdll sluraell w(Es1R

Jellswlx Qg Gaudl a2l B, ughl
HA d clsod A wandd A

[Qscq -

(A) ‘A’ B ABLALUR sAoll SIAEL B
AR R A YellBet oty Ratate]
yReun 8

B) ‘A’ WAl RAgid ® 5w 'R A WY
51201 &

(C) ‘A’ slAelyrel wUHA & waAR R
alwddl s B

(D) ‘A’ WY & 5@ R Wi B



38.

39.

In which case, the Supreme Court
deemed it appropriate for National
Legal Services Authority (NALSA) to
set up a committee to prepare Model
Rules for victim compensation for

sexual offences and acid attacks ?

(A) Nipun Saxena Vs. Union of
India

(B) Bodhisattwa Gautam Vs. Shubhra
Chakraborty

(C) Kavan Vs. State NCT of Delhi

(D) Rattan Singh Vs. State of
Punjab

According to ‘Deterrent Theory’ of

punishment

(A) Object of punishment is to
reform the criminals and it can
be accomplished by instilling in
them a fear of repeatation of the
punishment

(B) Object of punishment is not only

to prevent the wrong ~ doer from

doing a wrong second time but
also to make him an example to
others

(C) Object of punishmentis prevention

and disablement

(D) The person wronged was allowed
to have a revenge against the

wrong-doer

38.

39.

oAl Aot USl sal Juntt AdaU Wetdda
A%zl stefoll usta AriHsN g2l wlda

AYett el ARS gHEllot (AL KHotall? HIS
and? ysapfl 2id wesd (A2

oloictelioll A} ot ug A
it Hl vy ?

(A) [lyet usAoll (A6 eURcl URBsIR
(B) dl@ucct ol Qg yaiu usadl

(C) sciot (A3 ot. Al &l 25 Rl
w2

(D) el [ [Aze Mostol A¥

Al ‘WS / YAolus Relc

WoUIR,

(A) UNlell & 9JoaloURHL YLl
cllciclloll 8§ el d ABUHL U]

Yotlcidel gcltoll S all Y&l 531
Asle B

Ul &g HIA W S SRatRet
oflgalr A 52l 52l vlesladlels

(B)

olél U Aof oflontzdl w2 Gelsw

UM 5] Ut B
Uostoll & o] [Aauel wal
UUHA B

(€)

(D) Roll WA wRAN s &2 & A
(5 WIE el sRellR AUA el

Al Yzclioafl viuclisll



40. Match the following case laws with

the subject matter and choose your

answer using the codes given below :

Case Laws

a. K.M. Nanavati 1.

Vs. State of
Maharashtra

b. Jagmohan Singh 2.

Vs. State of U.P.

c. Machhi Singh Vs. 3.

State of Punjab

d. Reg. Vs. Govinda 4.

Codes :

(A) a-1, b-3,
(B) a-3, b-1,
(C)a-4, b-2,
(D) a-3, b-4,

Subject matter
Section 302 IPC
was challenged

as violative of
Article 14, 19
and 21 of the

Constitution
Distinction

between culpable
homicide and

murder

Extensive
discussion on
law relating to
provocation in
India
‘Rarestoftherare

cases’ expanded

further

c-2, d-4
c—-4, d-2
c-3, d-1
c-1, d-2

. ol v 3AA dstt [Quaargeu

U ALEL A8 %S Bl ARl
walol {QscHisll el

LYY

B A aeuadl 1.

Qe et
A%

. ogolledt e 2.

[Aze Griruial
AL

. HdlRls [Q3e 3.
Uorlod AU

. L [Qze 4,
sulcel
Qseq ;
(A) a~1, b-3,
(B) a—3, b-1,
(C) a-4, b-2,
(D) a-3, b-4,

[Quaar

eucdla flereldl
ulell s6H 302

ol G{tULQell WafRDE
¥, 1€, ua 24 o)
elol 52l dlatell

ETECIETERILE (R
el

VUMY, HoruclY

Mol Yot el
estelel

euRctHl Ged2elleu

stuel AN (@
uAl

‘Ul gAML FW

ofl a? [Qdd
Al

c-2, d-4
c—4, d-2
c-3, d-1
c—-1, d-2




41. A music teacher committing sexual
intercourse with a minor girl having
obtained her consent for the same
on the pretext of that the same is
required to improve her voice, was
held guilty of rape in
(A) Shyam Sundar Vs. State of

Rajasthan
{B) Gopalia Vs. Kallaiya
(C) R. Vs, Clarence
(D) R. Vs. Williams

42. The tort of trespass to goods takes

place when

(A) There has been actual taking of
the goods of another person

(B) There is direct and immediate
damage to another person’s
goods

(C) In either of the circumstances
mentioned at (A) and (B) above

(D) None of the above

43. In case of ‘In juria sine damnum’

(A) Loss suffered by the plaintiff
is relevant for the purpose of a
cause of action

(B) Loss suffered by the plaintiff is
not relevant for the purpose of a
cause of action

{C) Damage which is not coupled with
an unauthorised interference
with the plaintiffs lawful right

(D) None of the above

41, WR ‘clow’ ol AWaiy yuel H2
%331 © dcll wslell 3601 Q ‘clat’ W8

Aoll 1A Ancll enlda delot s6UR
AWdllal [Qas saul 3uHL olowslx M2
oJaloUR delellHl wdet ?

(A) UM YER (A AR ABIR
B) uwclau (3¢ sda

(C) AR [Aze s@Aex

(D) wR Q3¢ QR

42, %o MNesd U vleltdgd yasie
AUUFRL AR WRRUA B YR

(A) vot calsaioll Het/ Rasd wAx
solostHl AatHl vudd 8l

(B) et cufsdioll M/ RAsda Ycdt
wal clsiAs BwH Geust AAA Sl

(C) GUR ¥RUAA (A) AUl (B)
oialHigll slurl URRAA Geust
YA Glad RUR

(D) Gunil sisuel 1

43. ojs2llel cdlRell AUUF Rl HAFUHL

(A) stdcu(@et & 32 cwdlal ojseUt
UAA 8lg wlasus B

B) sticul@oll 3 W2 WElA ojsoUot
2A¢f A gy ol

(C) <Al€lall slaAB U6t RS WA
(AetuBlgd Aa QAU 53 ot
A2t g elsellet

(D) Guniell sl 3



44,

45.

Mark the statement which is not
correct.

{A) Master is liable for servant’s tort
even when he has temporarily
lent such servant to another
person

(B) Principal is liable for the acts

of his agent, if such act was

committed in the course of his
employment

(C) For the acts of independent

contraction, his employer is not

liable to the strangers

(D) Guardians are not personally

liable for the tort committed by

their minor wards

Assertion (A) : There are situations
when a person may be liable for some
harm even though he is not negligent
in causing the same.

Reason (R) : Because when the
plaintiff has consented to the
accumulation of the dangerous
things on the defendant’s land, the
liability under the ‘Strict Liability
Rule’ does not arise.

{A) Both (A) and (R} are true and (R)
is the correct explanation of (A}
(B) Both (A) and (R) are true and (R} is
not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R} is true

a4.

45.

ol gafcan WSl B Aot WY o A2t
dsl Wl

(A) HAs Aasoll UUSRL HIZ
FAUHUELR 21U Utsl GA Aal ulell
Acsal sHUAG YW WA
ci(sdal H{Uet fla

%l Boeall el Wdlell sl
A3 scltHl wdAA Sl Al
[Qerllwe Rogoeatt vilel gl

HIZ2 ¥alelel? awuel

A Slogserell el Hi2 dell
HAS AMEd uasAA FUGLER
U (@

wflz wert grL sl wad
wugeRll H2 dxllet alellal

c5R01Let el cllelelR 2RI oifd

RauasQtuet (A) : At URRA[QRA
Geud Ut A 3 Bul UEA A sl
U2 wallelelR dlR1A udl eld A
U5 sl sRAUHL AEBIR ol Bl
51R0U(R) :cuSlBl Yldaulell esxlist
GUR alawels dcull AsAd sa
e duld el slanett si@t

‘Yl FAUHELI ol Rglct 2601

et elF]l Geumt Al o1l

(A) uisl (A) Vel (R) AULD ual (R)
A (A) ofl Al uuxld 8

(B) cial (A) AUA (R) WUl B ual (R)
A (A)ell WAl 2wl atell

(C) (A)AUY & U (R) vig B
(D) (A)vllg B ol (RjUY B

(B)

(€)

(D)




46.

47.

Assertion (A) : Under the ‘Crowns’
Proceedings Act, 1947 (England)
king was not liable for any wrong
committed by the State.

Reason (R) : There is no statutory
provision mentioning the liability of

the crown or of State in India.

(A) (A) is true but (R) is false

(B) (A) is false but (R} is true

(C) (A) and (R} both are false

(D) (A) and (R) both are true and (R)

is the correct explanation of {A)

All motor vehicles to be used in
public places need to be insured
against third party risks. Which of
the following statement match to the
above statement ?

(A) The insurer is liable to indemnity
the person or class of persons

specified in the policy

(B) The insurer is liable to indemnity
the person or class of persons
even though their names are not

specified in the policy

(C} The insurer is liable to indemnity
the person or class of persons
even though the use of the vehicle

in private place

(D} Both (A) and (B)

47.

RAsuas [Quiet (A): .
51Gox UllSlol As2 1e¥9 (BCS)
Hosod A% LA WAURCAME A

ul2l et HIE AN SAUKELR ol &cll.
SRRL(R) -

GURAHL A% Al AU

el el otssl sl 518

slojoll ALUS URACH o8l

(A) (A) WY B W R WE B

(B) (A) vl ® Wq (Rjuy &

(C) (A) ua (R) ol vilal B

D) (A) uaA (R) ool Ul B UA (R)
A (A) ol Wl unyla 8

o182 Wloll U lUAAHL AeuHl
uidoll? dHIH RS dlesll o

AR vatstAell K AR
sAAc slal Ulcgaus 8.

Gu3lscl [Qltuet WA (A ealcan
Usle] 53 (Aot Mt B ?
(A} L suell Relldlldi ealadd b
% cufsciaion uyeal afdyld 2uua
B UHELR ARUA
Il suell QA calsa 3
cafsialloll AMoll allHl AU §RC ol

Slall il AR @yl suua
orcliolE1R QUL

(€) lH Sucll atgetell GuNL wietoll
UMl UAA Blall Bl culsel 3
calsllol Axgal allayld wuua
% CLGLELR QUEL

(D) (A) wa (B) ol

(B)



48. The pecuniary jurisdiction of 48. &5 yau wRRAau 201¢ 2600
a District Commission’ under ‘WEEl M slteusla efH A
Consumer Protection Act, 2019 is Y

i. Rupee one to Fifty Lakhs Rupees i 3.Us ol waua clw Ejtﬂ

ii. Twenty-five Lakh Rupees to One i, 3R wly cwell 3@.21[ WS
Crore Rupees 531 ﬂtﬂ

iii. One Naipaisa to One Crore Rupees i, Ay Yauell As 5As 30 Yl

iv. One Crore Rupees to Ten Crore iv. As 53ls 3@.&[811 £ 53ls
Rupees 3R yell

Codes : @Ascdl:

(A) i only (A) HA i

(B) i and ii only (B) i el ii WA

(C) iii only (C) A iii

(D) i, ii and iii only (D) i, i Vel jii HIA

49. According to the Provisions of the | 49. auul wEAan 2002 ol Aorcugul

Competition Act, 2002, which of the AAUR ol Aett D8 sl 52AHI

wileatizal Wtell Quidl ygl
£t QAL 5201 Rl Aot

S1eSoll HIAAUHLeAR Yl S2cll

el el Ad A WA cdslR
sl w3 sEul A wWeslaclell

52120l AHIAL WA B?

following agreement includes any
agreement restricting in any manner
the purchaser in the course of his
trade from acquiring or otherwise
dealing in any goods other than those

of the seller or any other person ?

(A) Tie-in agreement 5@ 2 S _s
(A) USAA QUL (2l —Bal} 52UR
(B) Exclusive supply agreement
B

{C) Exclusive distribution (B) (@frs Hrasl sRA2

agreement (€) QR Qdra s2AR

(D) ela RAuie 522

(D) Price fixing agreement



50. Adit purchased a photocopying
machine and started using the
machine for commercial purpose and
the money which he earned, he used

for self employment.

(A} Adit is a ‘consumer’ under the

Consumer Protection Act, 2019

(B) Adit is not a ‘Consumer’ under
the Consumer Protection Act,
2019

(C) Adit is a ‘Consumer’ only under
special circumstances under the

Consumer Protection Act, 2019
(D) None of the above

51. An agreement to sell goods worth

Ten Crore Rupees

(A) may be oral
(B) may be in writing
(C) must be in writing and registered

under the law

(D) none of the above

52. The ‘Law of contracts’ deals with
(A) Right in Rem
(B) Right in Personam
(C) Rights in Repropria

(D) None of the above

50. AR A asel scllef 202t vl wal Aell
Gualol dueldl 3q W2 salie] o3 53

wol Al Mol «uRliel Guallot
el sl W sall

(A) AR des YREUURA 20%€¢
35601 YL&S LA

(B) A€lcl ALes YA HIRL R01¢
3sm 3Ules deUA i@

(C) Ul &5 YA HIRA 09¢ 601
Al Aenlol 1oL JLes dRUR

(D) Guaniell R 2

51. 302 ey sAsoll (SHdall HIA Ayl
§2A

(A) As &L a4
(B) Al 8l 9%

(€) s I ALlAHL Aol
sAEI e oA Slal Hg

(D) GuHill A% B

52. 5A SlAEL 58 olloicl WA Aoildd B
A) udaell wEs
(B) cuBiciall wuEsi2
(C) Guelat cell wAsz

(D) Guznigll 81 <3



53. When a minor acts as an agent on
behalf of the principal then such

agreement is

(A) Void

(B} Void ab initio
(C) Valid

(D) Voidable

54. When the supplier supplies necessaries

to a minor, the supplier can

(A} Claim the reasonable price from

the parents of the minor

(B} Claim the reasonable price from

the minor personally

{C) Claim the reasonable price from

the estate to the minor

(D) Cannot claim from any one

55. A ‘Contract to Guarantee’
(A) May be oral
(B) May be in writing
(C) May be implied

(D) All of the above

53. wa? 56 w2, Qerllulctell WAooz
A% s 52 U wdl s2A2

LU,

(A) REGUAE

(B) 23ulld oy ecitdet
(C) Ao

(D) eoitctet sl stz Adl

54. A3 58 b Wl w3Ralctol
Aloraizgull Yl wd dt Al cagall ydl

ULseli? callsa

(A) el Rt M- wael
capesoll 2sH/BEHA Yl 53 b

B) ¥l WA cafdid A el
251 /(31 uinet 9] ok

(C) doltzell Metsanisll canesoll 25H/
Bud aye 531 a3 '

(D) S8ugl culsd wAYl [y 28U
ayd s3l ot w3

55. SHlotol3l 7 sudulaAl 5212
(A) s 8 ¥
(B) AMAAHL S a3
(C) alelct & 23

(D) GURASH MM



56.

57.

Whenever a Public Co., Ltd. proposes
to issue securities to general public
by issuing a prospectus, it must issue
securities in

(A} paper document form
(B) dematerialised form
(C) by way of oral allotment

(D) none of the above

Match the List — I with List = H and

indicate the correct answer using the
codes given below :

List - I List - II
. Dunlop Pneumatic i. General
Tyre Co., Vs, ' offer
Selfridge and Co.
Khwaja ii. Coercion
Muhommad Vs.
Hussaini Begum
. Carlill Vs. Carbolic iii. Stranger to
Smoke Ball Co. contract
cannot sue
Avni Raju Vs, iv. Change
Seshamma created on
a specific
immovable
property
Codes :
{A)a-1, b-1, c-1i, d-iv
B)a-1i, b-iii, c-iv, d-i
(C) a-iii, b-iv, c-i, d-ii
(D) a—iv, b-iii, c—-1i, d-i

56.

57.

ar2q2 uRl 5le5 w32 SUsll A& aicllal
ot Metollfl2Alal (Astiuetut g1t Azl
sellofl 2091 tRtetell sla @uR da
el Bl —— A udl
sl usal

(A) stolnell exclld AIUML

(B) (et lllAs a3uni

(C) s staaelletl W@3uHL

(D) GuAscHidll s\ old

A€l -4 A Afl-2 WA Aad U4 A

UL [Ascdlelt BULR UL el
Al

gl - 1
SAAY NS i,

AL€l-2
ULHLRL

2l sudll @AMRs Erulted
Q3¢ Acqgle sudll
RIQER
vt HEHE Qg il ool
gdofl Aotn
. scllet Q3¢ swll@s . 5AM
[sAA suell sl
uaLsl? elal
ol 53l 33
. wHl 2% Q3¢ iv., AlssU WULCR
al1HL Resd uz
Gall 53¢
oo
(Qseq
(A) a-i, b-ii, c-iii, d-iv
(B) a—ii, b-iii, c—-iv, d-i
{C) a—ii, b—1iv, c-1, d-ii
(D) a—iv, b-iii, c¢—ii, d-i




58.

59.

(D) i and iii only (D) M2t i el il

Assertion (A) : An agreement to do

an act impossible in itself void.

Reason (R) : Law compels people to

do impossible things.

(A) (A) is true and (R) is also true

(B) (A} is false but (R} is true

(C) (A) is true but (R} is false but (R) is
not the correct explanation of (A)

(D) Both {A) and (R) are true and (R}

is the correct explanation of {A}

Which of the following comes under
‘certain relations resembling those

created by a contract’ ?
i. Benefit of non gratuitous act

ii. Payment made by an interested

person
iii. Payment made by friend
iv. Payments made to the

unauthorised agent

Codes :
(A) ii and iii only
(B) iii and iv only

(C) 1 and ii only

58.

59.

[Aaaucts Qs A’
o 512l sclell anylA

e0ldA B,
sk -R’

slAE] cAlsAulal welsa sl
sclell 2 w3l B.

(A) A’ WY B UA R U Y B

(B) ‘A’ Wl B sl R°UY B

(C) A" WY B U R’ W B Uq R’
WA el il wnxgld stell

(D) ol ‘A’ ual R’ WU B wal R A
‘Aol uAl umla B

ol eallcal Ugl sl calasl?) ‘s2AR
gLl Gl AACl Aoldl ot HAOAL

A B ?

i Qo R A usi? s 51
HEA ANAR

i, @B Ulceil? s gl UM
aadl ysagll

iil. M2 gLl saUHl vuadl H5an

V. Ol UREA Ao Gl ScUHL

utadl ysagll
Qe :
(A) Mo ii el iii
(B) 1o iii Wl iv

(C) M 1 el ii




60. Which of the following combinations
are correctly matched ?

1. Implied contract — Quasi contract

ii. Stranger to consideration — Can
sue

iii. Agreements opposed to public
policy — Voidable at the option
of one party

iv. Claim for necessaries supplied
to a minor — Section 68 of the
Indian Contract Act, 1872

Codes :

(A) iv,iii and i1 only

(C) iand iv only

(D) i and iii only

61. Match the List — I with List - Il and

select the correct answer using the
codes given below :

List - I List - II
1. Khul a. Void marriages
2. Mubaraat b. Put-off by
husband

3. Express divorce c¢. By mutual
consent

4. Batil marriage d. Talak-i-Sunna

Codes :

(A 1-a, 2-b, 3-¢, 4-d
B)1-b, 2-¢, 3-d, 4-a
(C) 1-¢c, 2-d, 3-a, 4-b
Dy 1-b, 2-a, 3-¢, 4-d

60. (1A ealcay Udloll s2ul owelt w2l
dd v 8 ?

i. ofeld 22 — wd /atendl s2pAR

i, wAerell AUBA / vMR] SRR ~
elal 59l ok

iii. 932 ol[A [Azgell 5212 —3s Ul

gusefl Recldd s2ACL gsia Aal
§2A

iv. aollzat ydl uddl azRaudl-eudla
52A2 L2 1872 ol 56 68
CEIGNE
(A) HL iv, iii W i
(C) Wil iwd iv
(D) HIA ii el il
61. AEl-1 A Atel-2 WA %S| wa (A

VUL [Asedl Hiell w2l Qseu uie
53,

atel - 1 ALEl-R
1. yeu a. REGUAE Gloel
2. YollRd b. uldgla € s3]
sl
3. s adst  C- ururell dud
glal A%
4. ollde ¢ d. deus— 3- yat
[Aseq :
(A) 1-a, 2-b, 3-¢, 4-d
B)1-b, 2-¢, 3-d, 4-a
(C) 1-c, 2-d, 3-a, 4-b
D) 1-b, 2-a, 3-c¢, 4-d



62. Give the correct answer with the help

63.

of the codes given below :

Consideration by a Court for passing
order for custody of children is

a. Welfare of the child

b. Wishes of the parents
c. Wishes of the child

d. Age and sex of the child

Codes :
(A) d,b,aandc (B)a,b
(C) ¢, d (D) a,d

Read the Assertion {A) and Reason (R)
and give correct answer with the help
of the codes given below :

Assertion (A) : The acknowledgement
of paternity under Muslim law is in
the nature of declaration by father
that a child is his legitimate off
spring.

Reason (R) : It is not a process of
legitimation of an illegitimate child.

Codes :

(A) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(B) (A) is right but (R) is wrong
(C) (A) is wrong but (R) is right

(D) Both (A) and (R) are true and (R)
is the correct explanation of {A)

62.

63.

ol ealde @scetl 2 AR
arcliot UL WELAHA gl eltnsell

Alugll 23 gsd sl el R
a. ollise] sCUR &l
b Hicll — Rettell S0 Slat

C. gose(l Fusl sl
d. ounsedl GHR ua dl da

[Qseq:
(A) d,b,a dal ¢ (B) a, b
(C) ¢, d (D) a, d

Qalaueds Qtuot (A) Al 51261 R il
U ol Aetl (A5l AU VLA Aol
el

Raaucs Qutet (A)
Rt g2 sAA A oliotctoll aduAd 3

olls loj StARURe] Acllal B A YRAU
stael 50 ejectoll %lsi2 awua

51201 (R)
A well2y casefl vl of ulzan
o8l

[@se -
(A} ool (A) wat (R) AUl B Ud (R)
A (A) ofl Al unxl@ atell

(B) (A)u & ud (R) wWig &
(C) A ug Bukd (R) Wy &

(D) ool (A) el (R) WUl B ua (R) A
(A) ol Al unxla 8




64.

65.

66.

Which of the following are the
objects of Koran with reference to the
bequeath of his property and answer
the following using the codes given
below :

i. A Muslim is not allowed to
bequeath more than one third of
his property.

il. He is not allowed to bequeath any
thing to his heirs.

He is allowed to bequeath one
third with a view to fulfilling his
duty in respect of those who
have served him and who get
nothing.

iv. Both these limitations (ii) and
(iii) cannot be made nugatory,
even if the heirs consent to the
disposition made.

Codes :

{A) Only i and ii are correct
(B) Only iii and iv are correct
(C) Only i, ii and iii are correct
(D) 1, ii, iii and iv are correct

iii.

Under Muslim Law a will may be

(A} Oral or in writing
(B) Must be in writing only

(C} Must be in writing and must be
registered under the law

(D)} None of the above

Which Article of Indian Constitution
lays down that the State shall
endeavour to secure a uniform civil
code for the citizens throughout ?

(A) Article 50 (B) Article 43

(C) Article 44 (D) Article 48

64.

65.

66.

ol ol Udloll el HRUotoll RASAU
AL 2olelt GEall B 7 ol Aot [Asclatt
LULY wellol WL
i YRAM el Wldloll A5 qellatial 53¢
il MResel cunl vl 85612 o8l
il. A Wellell czAlA By d AWRYUER
A3l v s5€1R el

d ®al dell Acu 571 &lal wal S aAg
Yitel ot 48 8l A3l U Welloll $9ell
el A Wdlett As dcdlaial qAu@

AURMIHL wtUal SBELR B.

iv. kel A A A vl Guhsd
olel (ii) wa (ifi) M e2ldcd HalelA
waoell asia 2.

[Qsel

(A} WA 1 el i WU B

(B) M2 iii Ul iv WU B

(C) M i, i Wl i WU D

(D} i, ii, iii el v WA &

iti.

YRAM sIAEL BefUR [Ac s
afladey .....

(A) Hl0As 3 Al & ad

(B) A Alldnior &g A

(C) HA ARy &g RSA Ul sLAEL
yoyol ol seadl #3dl &

(D) Gunigl 8\ 3

elirclat oiuReell 520l wefWe Al

FLAE LA B 5 A¥RL &l AHlH
ARRSEL 2 Aot Elatlall Ut ndl
5cl HIE Yot $dloll B ?

(A) AWE WO (B) e)WE ¥3
(C) BofWE ¥¥ (D) wWE ¥¢



67. Child marriage as a general rule
{A) Void
(B) Valid
(C) Void ab initio

(D) None of the above

68. Which of the following Case Law deals
with ‘Live in Relationship’ ?
(A) Rajendra Kumar Vs. Indrajeet
(B) Surendra Vs. Phulwant
(C) Kushboo Vs. Kanniammal

(D) Fulkumari Vs. Budh Singh

69. Mithila is a subschool of
(A) Dayabhaga
(B) Benaras
(C) Mitakshara

{D} Dravid

70. The outstanding features of Wakf are

that the property vests in the name of
(A) Beneficiary

(B) Legal Heirs

(C) Government

(D) God

67. UHIA 200 AR et ..,
(A) Reo0ldd B
(B) Hied B
(C) 23uclles ecude B

(D) Guniell 1% (3

68. o{lA eatlca U4l sl 3 ella 8o
AAsgtetallu W ol & ?

(A) ABos SHR (& Bonct
(B) Yo% (A3 seidd

(C) w2 (34 salaume

D) sesHdl Qg oulle

69. (e A 58 wulsl AL & ?
(A) EALGIIL
(B) ool
(C) Pletat
(D) slds

70. cAs$o] G el A 8 3 dul

Resda oll ol HLRQL
scUH] ud B,

(A) cueudl
(B) slATUl Al

(C) UzsIR
(D) edLdlet / Ed




71. Match the following codes :

1. The restriction on bursting fire
crackers between 10 p.m. and
6.00 a.m. during the festival of
Diwali is not violative of Article 25
of the constitution.

2. The Right to Speech implies the
Right to Silence.

3. Every man’s home to be his castle,
which cannot be invaded by toxic
fumes, or tormenting sounds
therefore the proceedings under
Section 133 of CrPC could be
initiated if such fumes or tormenting
noises entered a home.

4. Vehicular pollution beyond the
permissible limit violates Article 21
of the constitution, therefore the
norms laid down under the Motor
Vehicle Act would be overridden
and the Motor Vehicle Act is in
addition and not in derogation
of the requirement of the
Environment Protection Act,
1986.

a. Noise Pollution (5) re, AIR 2005
SC 3136

b. P.A. Jacob Vs. Supt. of Police, AIR
1993 Ker 1

¢. Madhavi Vs. Thilakan, 1989
Cri LJ 199 (Ker)

d. M.C. Mehta Vs. Union of India AIR
2001 SC 1948

Codes :

(A) 1-¢, 2~-d, 3-a, 4-b
(B) 1-d, 2-a, 3-b, 4-c
(C) 1-a, 2-b, 3-c¢, 4-d
(D) 1-b, 2~¢, 3-d, 4-a

71.

1.

ol Aelt A58l B\

Raoflott Raud 23 10.00 a2l
Acl? .00 cruell azd saisst ssdl
w2 yldolt & oltelell usf2de 2wl

glode] Gecltuol otell,

. ool wRsRML YA éalatt

w(elslRell AL WA B .

£25 llsle] U Uellell M3 &, 3
g DI yaust 3 swelas vlauxlel
AAsHE A ATA olld Aoll A vyey
YHISL ¥ SWELAS AUAF LML ydacit
A A Al 51l 2dEcuoll s
133 ds0 stlaudl 53 asia

R Hallel sl AR yHiml

cusoliell ad YEHYL GitURBLett o WDE
29 o1 eiol 52 & Al WeR <flsc siadl
3o olsfl sRalHl vlAAl WReN Y
gegt Yeudl Aua We: dlsel wl
walcrel datet stael 1¢¢s ol
a3dlallcdlott diAHl B 3 dottell
AL YHIRHL Heeat URLestR otell.

a. olgd Ulealel (5) 2. — A e, AR,
2004 Y. &l 343¢%

b. |l 3 Bsot (¢ YARes2 w%
Wella -2 208, R, 1663 3 1

c. Hiudl Q3¢ Qese 1ece Bllata
oy 1¢E(3)

d. A Al 1AL [A2¢ elirct SR
DAL . 2001 Y. 5L 1e¥C
Qs

A} 1-¢, 2

(B) 1-d, 2

(C) 1-a, 2-

(D} 1-b, 2
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72.

73.

74.

In which of the following judgment
the Hon’ble Supreme Court held that
there is a need to evolve a National
Policy to protect National interests
from ultra hazardous pursuits of
economic gains ?

(A) Union Carbide Corporation Vs,
Union of India, AIR 1990 SC 273

(B) M.C. Mehta Vs. Union of India,
AIR 1987 SC 1086

(C) Samatha Vs. State of A.P., AIR
1997 SC 3297

(D} S.K.Shukla Vs. State of UP, AIR
2006 SC 413

Which of the following statement is
correct with regard to the position
of India in respect of the Montreal
Protocol on substances that deplete
ozone layer ?

(A) India was a founding member of
the protocol

(B) India acceded the protocol

(C) India did not sign the protocol so
far

(D) India is merely a signitory and
not have ratified the protocol

Which of the following body can take

punitive action with respect to illegal

release of hazardous microorganisms

under the Environment Protection

Act, 1986 ?

(A) Genetic Engineering Approval
Committee

(B) Institutional Biosafety Committee

(C) Review Committee on Genetic
Manipulation

(D) Recombinant DNA Advisory
Committee

72.

73.

74.

o{lA eallcal Udletl seu RAlati siotell2
Al WELEA gl spclallMl 2dd 3
‘wilels ciel Anael W2 adl vidtd
éloflsizs uglQalell 0uflal Bloll 280
2 Al ollldell 220 s2cell
UlcgAnsdl Geun adcl B ?
(A) Yllatet siodess silkatet Qs
GUR UISR BLUUES.MIR. 1990
y. sl. 273
(B) Ax. Al 13l Qe el U2
A, WY, WR. 1987 Y. 5. 1086
(C) Al (A6 Aiyytal A~
. U, WR. 1997 Y.5. 3297
(D) A, yscll [Aze Grr yta Ay,
. Y. B[R, 2006 Y. 5. 413

U Alet oll VUARHL LIS 5R0lR clecll

Wefl Hlodlad vruR@dton deelul

ettcloll RAA U ol ealicen Ublef

52 cllsa WY D ?

(A) @R BUAsct wWURRABello] @HUs
ue B

(B) el AEY WRARRABAML Wt
UAA B

(C) GRcl s &% YUl GUAsd

WRARURAL A sl

wlad «1l )
(D) etct Al UARAUBAL UR sxcllatR

5212 UeA B et Aol st s2cunl
wid e o2l

o{lA galcat Udlefl 56 urll vaiaw
Aatel sl2AEL 1986 601 ABLATUR
A stollsizs Yaudlall edL sal
wed Esteds slaudl s ad B ?

(A) 9Adls Aerpolladlol vyac sAR
(B) sedledalstct sitlAsd s

(C) ey s:l2l 2ot AR Aoll1gyAalet
(D) él[siéuﬂoma Sl Aat, A, Ascss»il

5




75.

76.

In the case of M.C. Mehta V. Union

of India the hon’ble Supreme Court

held that the directions given by the

Environment Pollution (Prevention

and Control) Authority constituted

under Section 3 of the Environment

Protection Act, 1986 are

(A) Binding only to the extent that it
confirms with the Act

(B) Final and binding on all persons
and organisations concerned
and they are bound to follow the
same

(C} Not binding where reasons are
given for jurisdiction of the Act

(D) Non appealable and binding in

Nature

Which of the following body was
established by the General Assembly
in the year 2006 for promotion and
protection of human rights for
substituting a 60 years old commission
on human rights ?

(A} Human Rights Executive

Committee
(B) Human Rights Task Force
(C) Human Rights Courts
(D) Human Rights Counecil

75. . dl. Nocll [Ae G URsIRel

76.

3uul Hiotcla yal AElAd 61 3
yaicel datlel w2t 1986 ol

SCH 3 86 UM WA walarrl
yenel (Reurel wal vigal) drudsa
g2l vnelHl e AEa.....

(A) UER SIAELA Aot Sl Ul Yl
oltletsdl 8

(B) wd]l ol i Al dnes
dravlal tiuasdl B vl AU A

ULt S2cl M2 walOER 8.

(C) wAR UER slaAElell g 2lall
S1200 UMl wAdL Sl d
AoolMl sitkatscl otefl

(D) Qamus1RE AM% sitlatsdl
UM B

ool ALl (UM Hell) LRl
2006 el ctiMi oflA goicay Udl ¢
At Mot wWEsL2el 28401 AMeys

YR M2 60 o etl Hiatd vifElsiR

WAell (e UL wAd ?

(A) Hiotd @512 AsoflslR o uRA
(B) Hlolal w@s12 28 S
(C) Hietal B[RS WELEA

(D) Hiotel (A5l uFNE



77. Which of the following has been

78.

established by the European convention
on Human Rights and Fundamental

Freedoms 1950 ?
(A) European Court
(B) European Police

(C) European Human Rights Task

Force

(D) All of the above

Which of the following contains
“Universal respect for, and observance
of Human Rights and Fundamental
Freedoms for all without distinction

as to race, sex, language or religion” ?

(A) U.N.Charter

(B) Universal Declaration of Human
Rights

{C} European covenant on Human
Rights and Fundamental
Freedoms

(D) International Covenant on Civil

and Political Rights
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79.

80.

Match the following in the light
of the provisions of the Universal

Declaration of Human Rights.
1. Right to life, liberty a. Article 8

and security

2. Right against b. Article 5
torture, cruel or
inhuman treatment

3. Right to effective c. Article 3
remedy

Codes :

(A) 1-a, 2-~b, 3-c

B) 1-¢c, 2-b, 3-a

{€C)1-b, 2-¢, 3-a

(D) 1-b, 2-a, 3-c

Which of the following Right is not
guaranteed by the Universal Declaration
of Human Rights, 1948 ?

{A) Right against arbitrary arrest
(B) Right to own Property

(C) Right to Nationality

(D) Right to be granted Asylum
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81.

82.

83.

As per the principles of Copyright law,

the copyright can only be bestowed

on the owner by

(A) Registration before appropriate
authority

(B) Virtue of creation of work

(C) Registration and publication of
work

(D) Commercial usage of the work

Which of the following case deals with
the notion that the right to prevent
alteration and other actions that
may damage the author’s honor or
reputation is also integral part of the
Copyright ?

(A) R.G. Anand Vs. Delux Films

(B) Dev Anand Vs. Kishor Kumar

(C) Entertainment Network Limited
Vs. Super Cassette Industries
Limited

(D) Amarnath Sehgal Vs. Union of

India

Which of the following order contains a
prohibitory order against unknown
parties in respect of Copyright
infringement ?

(A) Anton Piller Order
(B) Mareva Injunction
(C) Permanent Injunction

(D) John Doe Order
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84.

85.

As per the provisions of the Copyright
Act, 1957, a work must be

in order to get protection.
(A) Novel
{C) Distinct

(B) Unique
(D) Original

‘Painless Pharmaceuticals Limited’
invented and got a patent for
component ‘P’ which can be used for
the treatment of bodypain. Health
Pharmaceuticals Limited, a company
working on the similar kind of
research and development, found
that the component ‘P’ can also be
used to cure cough and cold. Which
of the following is correct for this
notion ?

(A) Use of new component P’ can be
patented by Health Pharmaceuticals
under the provisions of the Patent
Act, 1970

(B) The new use of component P’

cannot be patented as per the

provisions of Section 3(d) of the

Patent Act, 1970

(C) The new use of component P’

can be Copyrighted and cannot

be patented

(D) The new use of component ‘P’
cannot be patented under the
provisions of Section 3(K) of the
Patent Act, 1970
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86. Match the following concepts and

87.

cases in light of the principles of
Intellectual Property Rights.

. Idea and a. R.G. Anand
Expression Vs. Delux
Dichotomy Films

. Patentable b. Diamond Vs.
inventions in form Chakraborty
of Micro-Organisms

. Protection of c. Star India Vs.
Performer’s Rights Piyush

Agarwal

. Wideness of the d. Laxmikant
definition of Patel Vs.
trademarks Chetanbhai

Shah
Codes :
(A) 1-a, 2-b, 3-c, 4-d
(B) 1-b, 2-¢, 3-d, 4-a
) 1-¢c, 2-d, 3-a, 4-b
D}y1-d, 2-a, 3-bH, 4-c
As per the principles of Patent Law,

which of the following is not a basic

requirement for obtaining a patent ?
(A) It must be extraordinarily creative
(B) It must have utility

(C) It must be novel

(D) It must have an inventive step

86. ollAcll BN W JWeil ols

Auldetl A@s1en Rgidlel
?:.lf,@b-{t o5l
1. QarR wa a.

VR, UlelE
defl velcalsa Qe Beasu
(Qousset Baa

2. uldyan b. SlAMeS
P cltulletl [Qzs
23U Weoe usadl
ESIA wird
531 ¥ Aol
Aalluell
3. UAeARlell ¢ RIRsBBU
@813 2810l Qa1
ULl
4. 2R Rsdl  d. aelisia
SINITE | w2d ([Q3a
(Qaundt Aceleus s
@sel
(A) 1-a, 2-b, 3-¢, 4-d
B)yl1-b, 2-¢, 3-d, 4-a
€)1-¢, 2~d, 3-a, 4-b
D) 1-d, 2-a, 3-b, 4-c

H

87. Uzo2 Ul sttt Yyl
Rl Yoo, ol Ay U4 52 [@scu
Ueoz s Aneaal W2l
Hoed w3slae oiefl ?

(A) wueuRel ld ueeHs At
(B) cluRtatHl E8 Aslad g deluet
(C) =llAet alust

(D) scusuellel Aslluet Ul



88.

89.

90.

As per the provisions of the Trademark
Law, what do collective trademarks
indicate ?

(A) Connection of a trademark with
a proprietor or partnership firm

(B) Trademark which cannot be
subject to monopoly

(C) A unified collection of all the
registered trademarks

(D) Connection of a trademark with a
proprietor association

In which of the following Judgement,
the Hon’ble Supreme Court endorsed
‘Miller Test’ as a basic test for
obscenity ?

(A) Directorate General of
Doordarshan Vs. Anand
Patwardhan

(B) Shreya Singhal Vs. Union of
India

(C) Bennett Coleman Vs. Union of
India

(D) Internet and Mobile Association
of India Vs. Union of India

Which of the following Section of the
Information Technology Act, 2000
provides punishment for publishing
or transmitting of material depicting
children in Sexually Explicit Act in
electronic form ?

(A) Section 66 B  (B) Section 67 A

{(C) Section 67 B (D) Section 69
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91. What is freedom of Religion under
U.S. Constitution ?

(A) You can’t choose the time you
practice your religion

(B) You must choose a religion
{C} You can practice any religion or
not practice a religion

(D) No one can practice a religion

92. In U.S. both the President and
Vice President can no longer serve,
who becomes President ?

(A) President of the Senate

(B) Speaker of the House

(C) Governor of the most populous
State

(D) Chief Justice of Supreme Court

93. Which was the first Indian State to
establish the Institution of Lokayukta ?
(A) Bihar
(B) Uttar Pradesh
(C} Andhra Pradesh
(D} Maharashtra

94. Which is the oldest known system
designed for the redressal of citizens
grievance ?

(A} Ombudsman system
(B) Court
(C) Lokayukta
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95.

96.

97.

98.

Who makes U.S. Federal Law ?
(A) Congress

(B) The State

(C) The President

(D) The Supreme Court

Who wrote ‘Declaration of
Independence’ ?

(A) Abraham Lincon

(B) James Madison

(C) George Washington
(D) Thomas Jefferson

In Federal System, the Central

Government cannot order the

(A) President
(B) Local Government

(C) State Government

(D) None of the above

The power of the President of India

to issue an ordinance is

(A) Legislative Power
(B) Executive Power
(C) Quasi-Judicial Power

(D) Judicial Power
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99. Which of the following does not come
under the definition of “Information”

under Right to Information Act, 2005 ?

(A) Log Books
(B} Circulars
(C) Filing notes in the process

(D) Data material held in any

electronic form

100. Lokpal or Lokayukta is competent to

{A) Give observations and
recommendations in respect of
Administrative Actions to the
Government

(B) Investigate complaints involving
grievances in respect of
Administrative Actions

(C) Discharge the functions of
Administrative Officer

(D) Conduct enquiry against
Administrative Officer for

disciplinary action
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